
 (S-3) (SEC-VI) (UT-188/15) (S-3) (SEC-VI) (UT-188/15) 2  

B.A.-756-Y    [ Turn over B.A.-756-Y   

ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 
%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-3 ( Subsidiary-3 ) 

búˆ Yy [ S-3 : Comprehensive Economic 
Development (Britain/Japan/China) & Basics 

of Environmental Economics (SEC-6) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) ◊[˝–‰ªRÙO„XÃ[˝ ◊`î ◊[˝Y¿„[˝ V–”Tˆ G◊Tˆ [˝ ◊à˘EıÁÃ[˝› a«◊Tˆ [˝ÿóˆ 

◊`„îÃ[˝ \…ˆ◊]EıÁ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) ◊[˝–‰ªRÙO„XÃ[˝ ◊`î ◊[˝Y¿„[˝ Y◊Ã[˝[˝c˜X ◊[˝Y¿„[˝Ã[˝ \…ˆ◊]EıÁ C 

%UÔX›◊Tˆ„Tˆ AÃ[˝ %[˝VÁX a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   14 + 6 

 (G) Â]c˜O◊L `Áa„XÃ[˝ %Á]„_ aÃ[˝EıÁ„Ã[˝Ã[˝ a◊y‘Ã^ \…ˆ◊]EıÁÃ[˝ 

]ÁW˝Ó„] LÁYÁ„XÃ[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ Y“E ı◊Tˆ 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* Â]c˜O◊L `ÁaXEıÁ„_ G c˜›Tˆ 

Â^ [˝Ó[˝ÿöˆÁm◊_Ã[˝ ◊[˝Ã[˝”„à˘ ]ÁX«„bÃ[˝ Y“◊Tˆ[˝ÁV _l˘ EıÃ[˝Á 

^ÁÃ^ Âam◊_ =‰{F EıÃ[˝”X* 16 + 4  

 (H) %ÁW˝«◊XEı GSY“LÁTˆ‹óˆ› ªJÙ›„X aÁ+“◊TˆEı EıÁ„_ EıÁ^ÔEıÃ[˝ 

◊[˝◊\ˆ~ %UÔÍX◊TˆEı aeïıÁÃ[˝a]…c˜ A[˝e %UÔÍX◊TˆEı 

aeïıÁ„Ã[˝Ã[˝ ◊TˆX◊ªRÙO ◊[˝◊\ˆ~ Y[˝Ô a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 12 + 8  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) AEı◊ªRÙO ÂV„`Ã[˝ %UÔX›◊Tˆ C Y◊Ã[˝„[˝„`Ã[˝ ]„W˝Ó a+EÔı◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X*  

(F) Y◊Ã[˝„[˝` V…b„SÃ[˝ Zı„_ a rÙ [˝Á◊c˜ÓEıTˆÁ aey‘Á‹ôˆ 

%a«◊[˝W˝Ám◊_ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

(G) ªaÃ[˝EıÁÃ[˝ ◊Eı\ˆÁ„[˝ EıÃ[˝ %Á„Ã[˝Á„YÃ[˝ ]ÁW˝Ó„] V…bS ◊XÃ^‹óˆS 

EıÃ[˝„Tˆ YÁ„Ã[˝ ? Ac˜O Y“a„Ü EıÁ]Ó Y◊Ã[˝]ÁS ◊Y„GÁ◊\ˆÃ^ÁX 

EıÃ[˝ ◊XW˝ÔÁÃ[˝„SÃ[˝ ◊[˝bÃ^◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e A 

W˝Ã[˝„XÃ[˝ EıÃ[˝ %Á„Ã[˝Á„YÃ[˝ a«◊[˝W˝Á C %a«◊[˝W˝Ám◊_ 

ae„l˘„Y =‰{F EıÃ[˝”X* 2 + 6 + 2 + 2  
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(H) Eı◊]=X EıÁ„Eı [˝„_ ? ◊Eı\ˆÁ„[˝ AÃ[˝ GPˆX c˜Ã^ ? 

Eı◊]=„XÃ[˝ `ÁaX Yà˘◊Tˆ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

%ÁW˝«◊XEı GSY“LÁTˆ‹óˆ› ªJÙ›„X Y“[˝◊Tˆ¤Tˆ A W˝Ã[˝„XÃ[˝ `ÁaX 

Yà˘◊TˆÃ[˝ Zı„_ a rÙ a]aÓÁm◊_ =‰{F EıÃ[˝”X* 

  2 + 2 + 6 + 2 

(I¯) LÁYÁ„XÃ[˝ %UÔÍX◊TˆEı =~Ã^„X LÁc˜O[˝Áda«Ã[˝ \…ˆ◊]EıÁ 

=‰{F EıÃ[˝”X* AÃ[˝ ◊[˝Ã[˝”„à˘ ◊[˝◊\ˆ~ %◊\ˆ„^ÁGm◊_ ◊Eı 

◊Eı ? ◊•Tˆ›Ã^ ◊[˝`ü^«„à˘Ã[˝ %[˝Ó[˝◊c˜Tˆ YÃ[˝[˝TˆfiEıÁ„_ 

LÁc˜O[˝Áda« ÂEıX %◊ÿôˆ„±ºˆÃ[˝ aeEı‰ªRÙOÃ[˝ a∂ˆÇ«F›X c˜„Ã^◊ªK˜_ ? 

  4 + 4 + 4 

(ªJÙ) ◊[˝–‰ªRÙO„X ◊`î ◊[˝Y¿„[˝Ã[˝ Y∏JÙÁ„Tˆ [˝Á◊SLÓ ◊[˝Y¿„[˝Ã[˝ \…ˆ◊]EıÁ 

A[˝e TˆdEıÁ_›X ◊[˝–◊ªRÙO` %UÔX›◊Tˆ„Tˆ È[˝„V◊`Eı 

[˝Á◊S„LÓÃ[˝ %[˝VÁX a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊[˝–‰ªRÙO„X G◊â¯[˝gÁW˝X %Á„≥VÁ_X a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(F) ◊[˝–‰ªRÙO„X ◊`î ◊[˝Y¿„[˝Ã[˝ a]Ã^EıÁ_ a+„EÔı ◊[˝◊\ˆ~ 

B◊Tˆc˜Á◊aEı C %UÔX›◊Tˆ◊[˝V„VÃ[˝ ◊[˝◊\ˆ~ ]TˆÁ]Tˆ =‰{F 

EıÃ[˝”X* Ac˜O a]Ã^EıÁ„_ ◊`î ◊[˝Y¿„[˝Ã[˝ Zı„_ ◊[˝–‰ªRÙO„XÃ[˝ 

%UÔX›◊Tˆ„Tˆ Â^ Y◊Ã[˝[˝Tˆ¤Xm◊_ H‰ªRÙO◊ªK˜_ Âam◊_ 

a+„EÔı ae„l˘„Y =‰{F EıÃ[˝”X* 3 + 3 

(G) ◊`î ◊[˝Y¿„[˝Ã[˝ a]„Ã^ ◊[˝–‰ªRÙO„X V–”Tˆ c˜Á„Ã[˝ LXΩc˜ÁÃ[˝ [˝ ◊à˘Ã[˝ 

EıÁÃ[˝Sm◊_ a+„EÔı B◊Tˆc˜Á◊aEıÃ[˝Á Â^ [˝ÓÁFÓÁm◊_ 

◊V„Ã^‰ªK˜X Âam◊_ ae„l˘„Y =‰{F EıÃ[˝”X* 

(H) LÁYÁ„X Â]c˜O◊L `ÁaXEıÁ„_ ◊[˝◊\ˆ~ Y“EıÁÃ[˝ [˝Ã^X◊`„îÃ[˝ 

a] ◊à˘ a+„EÔı ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) %ÁW˝«◊XEı GSY“LÁTˆ‹óˆ› ªJÙ›„X 1949 aÁ_ ÂU„Eı G c˜›Tˆ 

◊[˝Eıî =~Ã^X ÂEıÏ`_m◊_ ae„l˘„Y =‰{F EıÃ[˝”X 

A[˝e Ac˜O Y“a„Ü "ÊG–ªRÙO ◊_Y' ÂEıÏ`_◊ªRÙO„Eı [˝ÓÁFÓÁ 

EıÃ[˝”X* 3 + 3  

(ªJÙ) ◊Xf„`b„^ÁGÓ %X[˝›EıÃ[˝S a+V [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

A W˝Ã[˝„XÃ[˝ a+„VÃ[˝ ◊XõıbÔSL◊XTˆ a]aÓÁ A[˝e EıÁ]Ó 

Y◊Ã[˝]ÁS ◊XõıbÔS a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(ªK˜) [˝ÁW˝Ác˜›X %◊W˝EıÁÃ[˝ A[˝e a[˝ÔaÁW˝ÁÃ[˝„SÃ[˝ a+◊w¯ aey‘Á‹ôˆ 

W˝ÁÃ[˝SÁV«◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(L) V…bS ◊Eı\ˆÁ„[˝ l˘◊TˆÃ[˝ a ◊rÙ Eı„Ã[˝ ? V…bS a ◊rÙEıÁÃ[˝› 

YVÁUÔa]…„c˜Ã[˝ Y“EıÁÃ[˝„\ˆV =‰{F EıÃ[˝”X* 3 + 3 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the role of the cotton industry as 
the pace-setter in the industrial revolution 
of Britain. 

(b) Discuss the role of the transport revolution 
in the British Industrial Revolution and its 
contribution in the economy. 14 + 6  

(c) Discuss the nature of economic 
development of Japan by means of the 
active role of the government during the 
period of rule of the Meiji. Mention the 
measures adopted during the period of the 
Meiji rule against which people's protests 
were observed. 16 + 4   

(d) Discuss the different measures 
implemented for economic reforms and the 
three different phases of economic reforms 
in modern People's Republic of China.  

  12 + 8 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the relation between the economy 
and environment of a country. 

(b) Discuss the disadvantages of externalities 

arising out of the pollution of environment. 

(c) How can the government control pollution 

by imposing taxes ? Discuss determination 

of the optimum rate of Pigovian tax in this 

context and mention in brief, the 

advantages and disadvantages of 

imposition of such a tax. 2 + 6 + 2 + 2 

(d) What is commune ? How is it formed ? 

Discuss the system of administration of 

commune. Mention the problems arising 

out of this type of administration 

introduced in the People's Republic of 

China. 2 + 2 + 6 + 2  

(e) Mention the role of the Zaibatsu in the 

economic development of Japan. What are 

the different allegations against it ? Why 

did the Zaibatsu face the crisis of existence 

immediately after the Second World War ? 

  4 + 4 + 4 

(f) Discuss the role of commercial revolution 

behind the industrial revolution in Britain 

and the contribution of foreign trade in the 

economy of Britain during that period.  

  6 + 6  
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3. Answer any four questions  : 6 × 4 = 24 

(a) Discuss the Enclosure movement in 

Britain.  

(b) Mention the different opinions of different 

historians and economists about the period 

of industrial revolution in Britain. Mention, 

in brief, the different changes that occurred 

for industrial revolution in the British 

economy during this period. 3 + 3  

(c) Mention, in brief, the different explanations 

given by historians about the rapid growth 

in the birth rate of British population 

during the period of industrial revolution. 

(d) Discuss the growth of different types of 

textile industry during the Meiji rule in 

Japan.  

(e) Mention, in brief, the alternative strategies 

of development adopted in modern People's 

Republic of China since 1949 and explain 

the strategy of 'Great Leap' in this context. 

  3 + 3 

(f) What is meant by exhaustible non-

renewable resources ? Discuss the 

problems arising out of extraction of these 

resources and about realisation of the 

optimum extraction of such resources. 

  2 + 4  

(g) Discuss the two concepts of open / free 

access and common property resources. 

(h) How does pollution cause harms ? Mention 

the classification of different types of 

materials causing pollution. 3 + 3 

    


